e

Total number of printed pages-11

1 (Sem-4) BCM 9
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FINANCE/HUMAN RESOURCE
MANAGEMENT

Paper : BCM0400904
( Cost and Management Accounting )
Full Marks : 60
Time : 2% hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1.. Answer as directed : 1x8=8

e IR T ol 8

(i) .. The difference between actual cost and
standard cost is knows as :

oo W I ARFE
B &
(a) Variance ‘f_:?

2N\ o?
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(b) Profit
511
(c) Differential cost
OIF9 R
- (d) Marginal cost
- A8 T
(Choose the correct answer)
(o T [RsiT 71)
(W) Cost Sheet is prepared on the basis of :
TN ] 2w il fofe Zig
(a) Direct cost
(b) Indirect cos%-?éf,- _
(c) Both direct énd indirect cost
AT I A <
(d) None of the above
S99 bl Ty
(Choose the correct answer)
(5% Ge3 sty 1)
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(i) What is normal loss of material ?

AT Tl Fog wef 2

(iv) A flexible budget is also known as
budget. (Fill in the blank)

THEACEOS _ AMEE IS Rl = |
(3Tl 1% 979 1)

(v) Fiule of thumb of current ratio is
- (Fil in the blank)

B%—wavn—q' Cor oie e
A(Wjﬁﬁ‘fﬂ)

(vi) Cost of idle time due to strike should

an Cgj~.  be treated as factory overhead.
Sp‘

X2} (State True or False)

(8% & g7 f30)

(vii) Overheads is the total of all

expenses. (Fill in the blank)
TR IRE TP ez OeiRe 91|

(T A2 9599 )
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(viii) Variable cost per ‘unit—
s (oifte sifRasae gm—

(a) varies when output varies
AT IS S 27

(b) remains constant

Esklic

- Answer the following questions . (any six)

2x6=12

(i) State two advantages of cost
accounting,

CAMA 7 fRbloReer IR B
(i)

Write two differe

‘ nees between dj
labour ang Indirect labour SR
AT RS O sigpes :
Gl Mo st g ety
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ey

(@) What is zero-based budget ?
“RRITI SO G 52

(iv) What does debtors turnover signify ?
WEIGERECIRC SIS ACRACH

(v) Mention two points of difference
between financial accounting and cost
accounting.

RS f2pi7iae Wi Seeine A fRpi7F=eid iee
75 Sty ferl

(vi) What is the need for marginal costing ?
£l 77 Rpi#IaR e Rt &= |

(vii) How does the break-even point help in
oken é}?,-};;).:\‘ decis1on—makmg ?

© NeFrere TR B FAE e R e

ention two Iimitat_ions of standard
costing.

SRS R 75 PRl S |

(ix) Define minimum and maximum stock

levels.
S{PTNE TETIIT FANE W Sl FEH W
weea |
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(x) What is a stores ledger ?

I o 39 R

Answer the following questions : {ény Sour)

. . 5x4=20
5TS fraiEes Seg i ¢ (Rt sy

()  Distinguish between ‘cost reduction’
and ‘cost control’,

A '3'[-,-';}59‘6;2\ T gy NS el fori |
i What are the precauti
= tions i
er;\\taken before the R

j-.

I
l\% ragios ? use of accounting
N ¢
\Sope &RV Shpeifs g
\.{"E’UV * WW o Fn\_;‘?:a RIS % ﬁs

control system.
R TRy fra

Explaj
5 1:; atm thfe concept of ABC analysis
€Chnique of inventory control

S AY o
wﬁaﬁmmwﬁ ot ABC R

(iv)
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(v) Distinguish between fixed budget and
flexible budget. .

3 NTH TIE T TS AL o4

(vi) What is variance analysis ? From the

details given below, calculate—
2+3=5

e AC ACIICE

Material usage variance

AR TR OIS
Standard Actual
W) - (@)
Quantity (kg) 50 56
s (kg)
Rate per kg 7 2
vq (efS kg)
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(vii) Suggest few measures for improving
labour productivity.

aﬁﬁs@ﬂﬂﬁﬁﬁ*ﬁl'ﬁﬁiﬁﬁﬁ Gf%ﬁmiﬁﬂﬁl
fai )

(viit) Mention two solvency ratios. Calculate

Debtors turnover ratio and average

collection period ffom the following. :
2+3=5

attﬂﬁﬁxwﬁﬂrﬁaawrﬁwn|*?ﬁ\owpﬁ§ﬁ6$ﬂ

oﬁmﬂ%ﬁfﬁwﬁpw—mmxagg

‘H.

(a) Credit sales 1‘”

‘r’

SRt \?
2, o

(b) Opening debtors <% % %
sl e

(c) Opening bills receivable 10,000
S sihet Fe

(d) Closing debtors 53,000
AR (e

(e) Closing bills receivable 12,000
AR et fay
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4. Answer the following questions : (any two)
| 10x2=20

woTs il e e fiat 5 (Rewtear 7o1)

(i) What is meant by over and under
absorption of overheads ? How does it
arise ? How is it treated in Cost
Accounts ? 4+3+3=10

IS iz o W)l Siregely ol e e wiese
i Ol SRR T (MR e Geeln
TA RoloeTe W @EME RS 6 =2

7 C{J:Q Explam the meaning of labour turnover.

%ama?aa@wmw%ﬁs@mm?

(iii) Discuss the advantages of Management
Accounting. How does Management
Accounting differ from Financial
Accounting ? 5+5=10
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JIZIoA BRI JRAPTE & | IR
fevieieeet € ReioaeR. siat foncg oj2?

(iv) Explain the difference between
forecasting’ and ‘budgeting’. Mention
the requisites for a successful control
system. 3+7=10

LI I AT e 2l A1 A1t 1 |
Bl 7 e e AR SR fepr
I T4 |

(v) What is the purpose of preparing a Cost
Sheet? From the following details,
prepare a Cost Sheet : 3+7=10

@aﬂmmﬂqﬁa@@wwqﬁwmﬁm
@Uﬂwwma@wmmﬁﬁmwg

e ; (3‘5‘?'“ COHege[ ‘ R
Materi purchaseqﬁgp (;_\'/ > 2,50,000
Q{C‘U &l ' l§( QQ.\ "_f"‘ i .

: PNy A
Wages paid \.f;& AN 2,00,000
NSy g el '
Carriage inward 2,000
SR ARaZe

Depreciation of plant and machinery 10,000
Ifoa SR 57
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Repairs

GRS

Office manager’s salary
S SgRER Tl
Printing and stationary
Floier-wers Sife AN

Power

*ife

Electricity e 1]

e ’
Carriage outward

ey A2 AR

Warehouse charges
BN A6
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5,010
10,000
10,000

10,500

2,000

3,000

1,500

8000



